{RERZE S SEL (5EF)

MSQX %731 (g10 ~ 250)

&
FIgE] 10 20 | 30 50
Rt A ()
RABREES 1 MPa
R/NRIEES 0.1 MPa
NERRERE 0° ~60°C (RE45F)
Zif NG
AAREERE 0~190°
RAREZEHAE 190°
EEOR EBAS M5 x 0.8 Rc 1/8, G 1/8, NPT 1/8, NPTF 1/8
MAS M5 x 0.8
L= #ith 74 (N-m)* 0.89 1.8 2.7 46
- ¥ EEVER ¢ 1 £ 5 (s/907) RIFTHEE (J) 0.007 0.025 0.048 0.081
- T;EWJEEE%%%&@? 5 s/90° 2 AR S E (s/90°) 1~5
B S 1%
| —
AR MSQ XB|[10|| |A-IM9BW
(k=X 7727
{4
. HEMEFFRAEL
pAKES FRE | 2 -
10 S 14
20 n n 4
30
50 )
© R FF K
| Zi2S | B (M EwH) |
BEOR e « TS BT % -
BEOR fAKES
Fine M5 10, 20 W'E%;&ﬂ%ﬁ
Rc 1/8
TE G1/s Bl | A96(V), A9B(V), A93(V)
TN | neT ] 0% MON(V), MOP(V), MOB(V), MONW(V),
TT [NPTF 1/8 Fehls | MOBW(V), MONA(V), MOPA(V),
MOBA(V)
V) TEREMETT R T K O
o= s /= 102 JEILH ==+ 0.5m {1 : MONW
HREITIZIET @ M e 1m MONWM
L +3m MONWL
Z ++5m MIONWZ

13



[i$:

JES

BRANSEL (

A=
[Z5]

SN R~ ()

EHA : MSQXBOA

$EEN) 1 MSQX &7

8 x WD & WE (& 8 %4)

4xJJI % 8

2 x J Al

JABLALYE IB

B

2xM5x0.8 BD
(LA t)
2DD
m
BB oD TR
<
oxP N CA oDE =
1 (%) ‘ it
2xJC # JD i <¢
o
2xJU *
! e N S
‘ L =)
| [©)©] =i :
# # @) m I / L N O
) é £ [ !
N é z|® o - - ==
a 2 E <
@ L1
1
AY t| |eOF i
(e L) %
AX =
AV AU|BA oDG BA e
SF (k2 SU) S
A
AA
O
>
YA || 2 &
: fu
m
>
(mm)
12| AA| A |AU|AV |[AW|AX |AY |BA | BB|BC|BD |BE|CA|CB| D |DD|DE|DF |DG|FA |FB |FC|FD | H J |JA|JB
10 |55.4| 50 8.6|20 155 | 12 4 95|345|278| 60 | 27 4.5 | 28.5 | 45h9 | 46h9 | 20H9 5 [15H9 8 | 4 3 45 | 13 6.8 11 6.5
20 |70.8| 65 [10.6 |27.5|16 14 5| 12 46 30 76 | 34 6 30.5 | 60h9 | 61h9 | 28H9 9 [17H9| 10 | 6 25| 65 | 17 86| 14 8.5
30 |75.4| 70 |10.6 |29 185 | 14 5 12 50 32 84 | 37 6.5 | 33.5 | 65h9 | 67h9 | 32H9 9 [22H9| 10 | 45 | 3 6.5 | 17 86| 14 8.5
50 [85.4| 80 (14 (38 |22 19 6 |155|63 |37.5|100 | 50 (10 37.5 | 75h9 [ 77h9 [35H9 | 10 [26H9| 12 | 5 75| 20 [105| 18 | 10.5
(mm)
g JC JD I Ju P Q| S [SD|SE|SF|SU|UU|WA/WB/WC| WD |WE|WF|XA|XB|XC|YA|YB|YC
10 (M 8x1.25| 12 | M5x0.8 M 8x1 M5x0.8 | 34 92| 9 13 | 45 |17.7| 47 |15 |3H9| 3.5 | M5x0.8 8 | 32| 27 |3H9| 35| 19 [3H9| 35
20 | M10x15 15 | M6 x 1 M10 x 1 M5x0.8 | 37 | 117 |10 12 | 60 |25 54 [20.5(4H9| 45 | M6x 1 10 | 43 | 36 [4H9| 45 | 24 [4H9| 45
30 | M10x15 15 | M6x 1 M10x 1 Rc 1/8** | 40 |127 |11.5| 14 | 65 |25 57 |23 |[4H9| 45 | M6x 1 10 | 48 | 39 |4H9| 45 | 28 |4H9 | 4.5
50 | M12x1.75| 18 | M8x 1.25 | M14x 1.5 | Rc 1/8** | 46 [ 152 [14.5| 15 | 75 [31.4| 66 [26.5/5H9| 5.5 | M8x1.25 | 12 | 55 | 45 |5H9| 5.5 | 33 |5H9| 5.5

14



